Math 116 - Quiz 4 Name: K e
Answer the following questions showing all work. 5 points each.

For questions 1-4, consider the graph given by the parametric equations z(t) = 2e* — 4 and
y(t) = 3e —t.
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1. Precisely one of the points (2e5—4,% 5 —5) and (2e—4,— — 1) is on the graph. Which one is?
5 / \ \__\'
Qe ‘7:28t~‘f / 4 ‘u‘ ool \ \/ 2 ot
7 2807 e L N s t 5 -z e -4
v . \ de-4=3e-1 2
t=3$ ' ! i
4-r T .

LZ '-: TS o~
Stme {7’9 u/\/ k/ (}

{ "~4L i ﬁ' o j A
/\{ 0. 2 €S Loy
2. Find tbé quatlon of the tangent line to the graph at the point you found in 1.
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3. Is the graph concave up or concave down at the point you found in 1?
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4. Find length along the graph frony (4, 2) to k8e — 4, 2.«3 — 1) = i, -
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5. Suppose r = f(f) satisfies the differential equation (%)2 + 1% = §2. Compute the arc length of
yq ffrom@=0¢tof=2m. LA
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y, you can’t find any
three leaf clovers, which makes you sad. Your friend offers to cheer ygt up by conjuring up one
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i 7. Also, write down (but do not evaluate) a definite integrdl to compute the perimiter of one leaf.
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8. Consider the region, €2, in the ﬁrqt quadrant bounded by the x-axis, the y-axis, the line
z +y = 10, and the circle 22 + y? = 4. Give inequalities on r and § that describe Q
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